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1. KO =4 <90, B<90 )0 E S &3k k.
Find the area S of the following AABC when A <90
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Complete the table of trigonometric ratios using the following diagram.
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3. RO =MAOHEHME S %Zk??’) X
Find the area S of the following AABC
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Find the area of the following figure.
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Find the area S of the following AABC
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1. RO=ABOEE S DAREEX R X, 3. RO=AKOHEME S 2RO I Y,
Write the formula for the area S of AABC. Find the area S of the following AABC
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1. KO =4 <90, B<90 )0 E S &3k k. 4. KO =RBBOHK S %K &,
Find the area S of the followmg AABC when A <90 , B<90 . Find the area S of the following AABC
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Complete the table of trigonometric ratios using the following diagram. G — b=5.c=38
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1. RO =AEOEHE S DAXNEZEZ LRI, 3. ROME D HFE Z K X,
Write the formula for the area S of AABC. Find the area of the following figure.
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Find the area S of the following AABC @
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Find the area S of the following AABC
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1. W = R LT, ko= ﬁtt%?k&biﬁéb\ /k@lﬁé@@ta%ik&bot
Find trigonometric ratios using right triangles. Find the area of the following figure.
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Find the area S of the following AABC J6+ 25— 36 5 ]
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1. ko= ﬁﬂﬁé@ﬁi@S@/\Jﬁ%i%iﬁéb\ 3. I%%UFHLT WD =MD R Z5EMRE L,
Write the formula for the area S of AABC. Complete the table of trigonometric ratios using the following diagram.
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Find the area S of the following AABC
120° 60 90°
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/
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| E@ a=vVv10, b= 4, c :\/2_,A = 45’ Find the area of the following figure.
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Find the area S of quadrilateral ABCD inscribed in the circle.
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Find the radius r of the inscribed circle of the following triangle.
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BIE a=17, b=8, ¢=9
i%/"ELVJ bHH C
RETEHEHWD L&, .
7
2 2 42
2bc A 5 B
g+ 9* -7 96 _ 2
2x8x%9 144 3

. 2 \2 5

24 — 1 anc2A4 — 1 (22 o
sin“A 1 cos“A 1 (3) 9
sinA >0XkbV, smnA = \/g_
éiJﬁV)(TL‘ WA HE
=AM OmMAE ST

S—LbcsinA

2

_ 1 5

= 5 X8x9Xx 3 125
FA) ’d‘ﬁi/u XA Fv S
W #2 @#ﬂ%r%‘:ﬂﬁﬁ?‘ék
S:%(a—i—b—f—c)r— (7+8+9 r=12r
12r=12v5 kv r=+vh
b EN
ME a=6, b=8, ¢c=10




Shho T whEE AN Sh o Fn noEn

%ﬂ%l —AEOERAC=AYI2 RE

[

B AL )

/(_/u Rt L 7o dn b HE

BT % U ABCD O 1 % S%:k&bot

Find the area S of quadrilateral ABCD inscribed in the circle.

fo1 AB =5 CD=1, AD=3 /A=120
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= AD?+ AB?— 2XADXABXcos A

2><3><5>< %

=32 + 5% — ‘E.
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BC= xt LT, ABCDIZAMEREM NS L,
BD? = BCZ+CD?—2XBCXCDxcos C
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Find the radius r of the inscribed circle of the following triangle.
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In A ABC, let D be the intersection of the bisector of £ A and side BC.
Find the length x of the line segment AD.
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HllE AB=4,AC=8,A4= 120
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So = TAC x AD % sin 60
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8v3 = x%x+3 + 2xx3

_ 8
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=L wgxax V3 =2x %3

AABC O HFE S = 8S1+Ss TH 2D 1 H
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In A ABC, let D be the intersection of the bisector of £ A and side BC.
Find the length x of the line segment AD.
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